10 | -RTACq, PE2 L1 Fau [t Trip Time:_0.

g+ -DTACq, OHL1 FaultTrip Time: 0.8

| _DTACq, TE L1 FaultTrip Time:.0.8

| _DTACq, PF1 L1 FaultTrip Time: 0.898955

A|—ATlnput PE211 FaultTrip Time: 0.910200 -
AT Input, PE1 11 FaultTrip Time: 0.910200 -
2 -ATlnput, OHI11 FaultTrip Time: 0.910200 -
AT Input, TE 11 FualtTrip Time: 01910200_ _ _ _ _ |

3095
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10 | -RTACq, PE2 L1 Fau ltTrip_Time:_

| _DTACq, PF1 L1 FaultTrip Time: {1-0280385_ _ _ _ |

D.0280385 ~ ~  __

g -DTACq,OHL1 FaultTrip Time: 0280385 = _ _ |

| _DTACq, TE L1 FaultTrip Time:QJ0Z80385_ _ _ _ _ _

6F- - -

4 —ATlnput PF2 11 FaultTrip Timet 0.0375996 _ _ __
AT Input, PE1 11 FaultTrip Timel 0.0375996 _ _ _

2| AT Input, OH 11 FaultTrip Time:10.0375996

AT Input, TE 11 FualtTrip Time: 0.0375996 _ _ _ _ |

3096
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10 | -RTACq, PE2 L1 Fau [tTrip Time: 0788771 _ _ _ __|

| _DTACq, PF1 L1 FaultTrip Time: 0J788771_ _ _ _ _ |

g | -DTACq, OH L1 FaultTrip Time: 0.¥8877T_ _ _ _ __

| _DTACq, TE L1 FaultTrip Time:Q.788771_ _ _ _ _ _ _

A|—ATlnput PE211 FaultTrip Time: Pp.799799

AT Input, PE1 1 1 FaultTrip Time: P.799799

2 -ATlnput, OHI11 FaultTrip Time: 0.799799

AT Input, TE 11 FualtTrip Time: 0[799799

OI3I]I-6I4iIIII|IIII|IIII|IIII|IIII
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10 | -RTACq, PE2 L1 Fau [tTrip. Time: 1.4

g+ -DTACq, OHL1 FaultTrip Time: 1.44

| _DTACq, TE L1 FaultTrip Time: 1.48

| _DTACq, PF1 L1 FaultTrip Time: 1.4876L . _ _ _ _ .

A|—ATlnput PE211 FaultTrip Time: 1

50000

AT Input, PE1 11 FaultTrip Time: 1

50000

0000

2 -ATlnput, OHI11 FaultTrip Time: 1

AT Input, TE L1 FualtTrip Time: 1.5

Ol3lolgl8|IIII|IIII|IIII|I

-20 -15 -10 -5 0

S 10



10 | -RTACq, PE2 L1 Fau [tTrip Time: 1.18819 _ _ _ _ __|

g | -DTACq, OH L1 FaultTrip Time: 1.188T9—_ _ _ _ __

| _DTACq, TE L1 FaultTrip Time: 118819 — _ _ _ _ _ _

A|—ATlnput PE211 FaultTrip Time: 1.20000

AT Input, PE1 11 FaultTrip Time: 1.20000

2 -ATlnput, OHI11 FaultTrip Time: 1120000

AT Input, TE 11 FualtTrip Time: 1.20000

OI3IOIgIg|IIII|IIII|IIII|IIII|IIII
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10 | -RTACq, PE2 L1 Fau [t Trip Time:_0.

g+ -DTACq, OHL1 FaultTrip Time: 0.]

| _DTACq, TE L1 FaultTrip Time:0.7

| _DTACq, PF1 L1 FaultTrip Time: 0J789562

789564  _

A|—ATlnput PE211 FaultTrip Time: P.800600 -
AT Input, PE1 1 1 FaultTrip Time: P.800600 -
2 -ATlnput, OHI11 FaultTrip Time: 0.800600 -
AT Input, TE L1 FualtTrip Time: 0l1800600_ _ _ _ _ |
O|3|:||-qo|||||||||||||||||||||||||
-20 -15 -10 -5 0 S)

10



10 | -RTACq, PE2 L1 Fau [tTrip Time:_(

g -DTACq,OHL1 FaultTrip Time: O

D.105297_ |

| _DTACq, PF1 L1 FaultTrip Time: (-105297_ _ _ _ _ |

| _DTACq, TE L1 FaultTrip Time. QJI05297 _ _ _ _ _ _

6F- - -
A|—ATlnput PE211 FaultTrip Time] 0.115000 -
AT Input, PE1 11 FaultTrip Time] 0.115000 _ _ _ |

2 -ATlnput, OHI11 FaultTrip Time:[{0.115000 -
AT Input, TE L1 FualtTrip Time: 0.115000_ _ _ _ _ |

310
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10 | -RTACq, PE2 L1 Fau [tTrip_Time:_1.

| _DTACq, PF1 L1 FaultTrip Time: 1.07960 . _ _ _ _ .

g -DTACq,OHL1 FaultTrip Time: 1.07960_ _ _ _ _ _ |
| _DTACq, TE L1 FaultTrip Time: 1.0Y960 _ _ _ _ _ _ _
6L -
A|—ATlnput PE211 FaultTrip Time: 1.09120 -
AT Input, PE1 1.1 FaultTrip Time: 1.09120 _ _ _ |
2 -ATlnput, OHI11 FaultTrip Time: 1109120 -
AT Input, TE L1 FualtTrip Time: 1.09120 _ _ _ _ _ |
O.?’]fq....I....I....I....I....
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10 | -RTACq, PE2 L1 Fau [t Trip Time:_1.]

g+ -DTACq, OHL1 FaultTrip Time: 1.1

| _DTACq, PF1 L1 FaultTrip Time: 12208 _ _ _ _ _ |

4208 |

A|—ATlnput PE211 FaultTrip Time: 1.15380 -
AT Input, PE1 11 FaultTrip Time: 1.15380 _ _ _ |
2 -ATlnput, OHI11 FaultTrip Time: 1{15380 .
AT Input, TE 11 FualtTrip Time: 1.15380 _ _ _ _ _ |
O|3|:||-q3|||||||||||||||||||||||||
-20 -15 -10 -5 0 S 10



10 | -RTACq, PE2 L1 Fau [t Trip-Time:_Q}7:

g+ -DTACq, OHL1 FaultTrip Time: 0.

| _DTACq, TE L1 FaultTrip Time:.0.7

| _DTACq, PF1 L1 FaultTrip_Time: 0[729025

A|—ATlnput PE211 FaultTrip Time: PD.760000 -
AT Input, PE1 1 1 FaultTrip Time: p0.760000 -
2 -ATlnput, OHI11 FaultTrip Time: 0.760000 -
AT Input, TE 11 FualtTrip Time: 0{760000_ _ _ _ _ |
O.?’]fqéll”..l....l....I....I....
-20 -15 -10 -5 0 S)

10



10 | -RTACq, PE2 L1 Fau ltTrip_Time:_

| _DTACq, PF1 L1 FaultTrip Time: (0653687 _ _ _ _ |

D.0653687 = |

g -DTACq,OHL1 FaultTrip Time: 0653687 _ _ _ _ |

| _DTACq, TE L1 FaultTrip Time: QJ0653687_ _ _ _ _ _

6F- - -

4 |—ATlnput PF2 11 FaultTrip Time{ 0.0749989  _ __
AT Input, PE1 11 FaultTrip Time! 0.0749989 _ _ _

2| -AT Input, OH 1 1 FaultTrip Time:10.0749989

AT Input, TE L1 FualtTrip Time: 0.0749989 _ _ _ _ |

3205
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10 | -RTACq, PE2 L1 Fau [tTrip Time: 0[674185

| _DTACq, PF1 L1 FaultTrip_ Time: 0[672 185

g -DTACq,OHL1 FaultTrip Time: 0.67418%

A|—ATlnput PE211 FaultTrip Time: 0.684999

AT Input, PE1 11 FaultTrip Time: 0.684999

2 -ATlnput, OHI11 FaultTrip Time: ().684999

3106

| _DTACq, TE L1 FaultTrip Time: 0.§74185" _ _ _ _ _

OIIII|IIII|IIII|IIII|IIII|IIII

-20 -15 -10 -5 0 S

10



10 | -RTACq, PE2 L1 Fau ltTrip Time:_1.]

g+ -DTACq, OHL1 FaultTrip Time: 1.1

. _DTACq, TE L1 FaultTrip Time:1.1¢

| _DTACq, PF1 L1 FaultTrip Time: 1.16983_ _ _ _ _ |

EUs3—  _

983 .

A|—ATlnput PE211 FaultTrip Time: 1.18160 -
AT Input, PE1 11 FaultTrip Time: 118160 _ _ _ |
2 -ATlnput, OHI11 FaultTrip Time: 1{18160 -
AT Input, TE 11 FualtTrip Time: 1.18160 _ _ _ _ _ |
O.?’]fq?h...l....l....I....I....
-20 -15 -10 -5 0 S 10



10 | -RTACq, PE2 L1 Fau [tTrip Time: 0.446428  _ _ _ __|

| _DTACq, PF1 L1 FaultTrip Time: (7Z262728_ _ _ _ _ .

g -DTACq,OHL1 FaultTrip Time: 0446428 _ _ _ _ _ |

| _DTACq, TE L1 FaultTrip Time. 0.446428° _ _ _ _ _ _

A|—ATlnput PE211 FaultTrip Time:|0.456799

AT Input, PE1 11 FaultTrip Time:{0.456799

2 -ATlnput, OHI11 FaultTrip Time: 0.456799

AT Input, TE 1 1 FualtTrip Time: 0.456799

OI3I]I-OI8|IIII|IIII|IIII|IIII|IIII

-20 -15 -10 -5 0 S 10




10 | -RTACq, PE2 L1 Fau ltTrip_Time:_

| _DTACq, PF1 L1 FaultTrip Time: (03732246 _ _ _ _ |

D.0378246 = _

g -DTACq,OHL1 FaultTrip Time: 0378246 _ _ _ _ |

| _DTACq, TE L1 FaultTrip Time: QU378246_ _ _ _ _ _

6F- - -

4 |—ATlnput PF2 11 FaultTrip Timet 0.0473995
AT Input, PE1 11 FaultTrip Timel 0.0473995 _ _ _

2| AT Input, OH 11 FaultTrip Time:10.0473995

AT Input, TE L1 FualtTrip Time: 0.0473995_ _ _ _ |

3109
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